i
b
H
i

A65 OFPH 1

AL

(o lly « P Cxlly. B HeL

M (D)= m(CxHy) - 0,018518 = (Rwxy) 0018519

0.2,

{0. 3.

n, mtww = 98¢

O L.p :
A == Oy = 0 € Ho! ML Nmﬁa
M, = Ch mﬁw CHi=ed + Ry auemudlt o9
2y BB U= 43000 gemuatu | Qoo
CH y 10e0s, C + M, kowe %\G%\Q\S
=0, + Hio — Q\\w(Q\M-OT\ MaANOU
MOXMS mb.\lxw \J
0 Sergou
QM= — CusC- = W, §§
CHy -y -y £B Gy cuzo, - npontn
CHz ~CH =0, + M0 —> CHy -dEm 0y ppopat
|
£, 0L &
= e, 18 CHy — G T PO *
J,5
04 ’
thwv Umwcl\% = 0,00 wth Ivl\v\c&\ @@M@:@%
M

0,04 woub lﬁ.. %\ L.smﬂ
A2,4

[,68 - 056 = 11x 2. ~ o /T Y
e - (9 = 05 p. - s o T peaky

Tgore

X - Y -x iy
N - 2-x Gougrumbn



wabatn el - d 200 gvYos iy _
Doty o g0t < LEE < (e oy

,\%La% ) wgy 555 =210 - 988 = 4y

\ _gmore) mgn L4101 = (0¥4) B
mh% 4+ A o) wgA g+ 0ogd s 0¥ oy |
S yrom/ gy 949 =("%)y) 8 |
09 + 4 9707 WA 9& 9 F AT = Qs+ JfA

T Hyy 555 | O PoW S 088 - WY

b0}
W o [ Yot gy fostey :waywg
o e X’
o,\\%w. /A = ,,\NGQ\\_INLOMN H\Qw\xbo\g
: bt

o 7280 = 280) " ST s (edley ) an

de pts =07 2 D) v 86 =TV

ot =500 8 = (08y) W

701" 570 F (@A | &= PHEl= (0% )V ¢ (0u1) W

b b%9) n\\Qm x\w\ % \smmiw W

o ) § = (") u <= zs) ={edioy) v s (f0%d) u
powy -0y B EE=B -0y Thgg - (DY) w

(g T 2580-0n < (WGo)) W

S Pk s sa0 = (0%) w

L P00 = (oY) u <= s ffo) v () )y

/ PR ) A
s e 5 - taifa).
Grys + "OIENE = KOV S0y

Q25 S0y = (og)im

3

» 0]

_$007
yrer) &) 363 = o = (YR Ty

O 5000 =(AX) G <=  pih =(Y4R)vi(nfu
PR NN THA < VS + AN




